EANRAROBREIEHRT — 2 N—XBISYH —F 20135108128 (+) 4E%==3A

BElc#s 16005T #5%3/E (BA) (548 &R [ixm) w0 [mamml - 2 () oo &
[A&4£] 1 7 :17,400,000 § 2 7% :7,000,000 3 3&:4,400,000 § 4 7% :2,600,000 5 & :1,740,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ N |, A2Fq¥ :19. - . . AEEN (ER)
1 - MY E S 5 Gt 1(1_9)6 10-6 33.3[111.1] 3 <5+048) %E%u%
R:gZJFLLY b BTV RSYTq 24 N1 Y5
N Bl PG| :20. - . . HiER (/)
N T, H o4 L 1(240)3 15-14 [33.3|103.4| 6 (4_628) UL%EEEE
LT RIAY L= BIINMAXRTAT S Y aA-TJy—ALA
o= —: LHER : - BERME (74
N > BEE2Z AP E S [eaey N R Rt N A v
R:F4—TA2N7 b B XX-INFHE1X HET7—L
< . . e AHEEE : - FapNELINNE S )]
algligl 7IHTF LN it 4 = 1(.12/02.)4 10-11 | 33.6 [ 102.3| 1 ge) AL
L:BATATv— BeEIVINN—XAFR HET77—L
R o5 | BEERE 1:20.4 2-2 34.7102.2| 7 468 | BHFE (FR)
5/7/13l VTAKMI >R 57.0 (74%) (c4) |H Ho¥zd7 - FNLF
R:Pivotal B:XF—YZXT—IL H—L—+ T x> Ty7—LBRS
= 4 4 4 | EEAA 1:20.5 2-2 34.7 [101.1| 2 452 | BB (RR)
61111 T1xEI—0 5.0 R ) | B FSTLuEs5T 5707
LA—IXA A4 B:AXET4+—Fa1> EvJLy RIT7—L
B it 5 | t&ILSREL 1:20.5 1-1 35.0 | 101.2| 4 474 | RTTENE (E5H)
7 4| INVTFT Y — g 57.0 (4 €) o |BEsHIILY
RV by THY BiFARIL—X (B) HBaI—KL—va>AETr
> 4 4 | KEFHRIR 1:20.6 15-16 33.4100.2 | 10 508 | @AE (&)
sPlg | *Vv—TRA)—h 57.0 (5E) © |48 GlL=s>y
LA T*ATv— B:XTYLEZ—F%vy b HRREt WEKS
2 3 <= t 3 | BRBEE 1:20.6 13-13 33.7100.1 | 12 448 | BIIEE (E#)
9|59 | ¥—7V=2F147 53.0 (742%) (+12) | BRELIERI
LT RIAVY S vy BTy v X547 FHE%S
N 4 8 | EHEEA 1:21.0 12-11 | 34.2| 95.8 | 15 | 432 |HEFiER E#)
EH 6| ®A— KOy 7 57.0 @ 1/2) (42) ) O—FR—2757
R:Ay I+ TITIINEIL B:LTF1IXRTIL K.1. Farm
= S o4 | SRILE— 1:21.1 14-14 [ 34.1| 94.7 | 11 484 | /NBKX (EH)
112 77b=XH7Tzx 5.0 (3/4) ) |BElX—
R:w>nyarh7z B:QRyTH-IL HET77—L
= 4 5 | KREIES 1:21.1 6-6 34.8| 94.8 | 16 | 494 |EHIE (i)
Eam JEI— D= 85.0 () g | KT
iFANRINGR B:T5TY—7—T7 tH 58
> . # 3 | FlREX 1:21.3 8-9 3.7 97| 9 492 | BET (E#)
18\ 714 ¥ P/ R TT 2" 8.0 ) ve) | 2RA
R:VLKYIYRIR BTLF T J—HrTr—L
S = 6 | IEHEE 1:21.3 17-17 | 33.9| 92.5 | 14 | 458 | (=)
14|5|10| 7L —Y 27— 57.0 (7%%) o) | 8) mistkis
L:TLeFFE2T BHHIVLT— RS
= 4 T 5 | SHEX 1:21.4 8-9 34.8| 91.7 | 8 478 | ERER (EH)
15818t7$74/ﬂ7h 57.0 (3/4) -2) (%) THEYE
L:FA—=TAT b BRU—LhLhL FHRE®S
i = 4 5 | SHZ 1:21.5 4-4 35.5| 91.0 | 13 | 460 |itWIFH (R=R)
16 7872747 — 57.0 (1/2) © (#F) 4/ 992
LT =TANT N B3 XT—=NT=N biEe]
S ; # 6 | XLRKA 1:21.6 17-17 | 34.1| 89.2 | 17 | 470 | REFHE—EB (E#)
17 5| hUYavTx73d 5.0 (3/4) (4 | MUY UER ()
L:¥riAnqO— B:LbhObyday ry o avEEMRASH T a v
> —:y 47 | FRER 1:22.5 4-8 36.1| 81.5 | 18 | 53¢ | BB (E#)
18/8[17| YT FVIF > 57.0 (5) ) | B F5TLyKI5T 5747
L:xrinaO— B:EFAN-L ilgizae]
@ 21 L
£y 45.1-34 1
NnaO>a24 L | 12.8-10.9-10.8-11.0-11.0-11.6-11.5
® I—F—&EBIERL
13—7-
23—7F—
33—+ — 4-(1,13) (7,17) (3,12) (14,18) (11,16)6,9,2(8,15)-(5,10)
ASI=F = 4(1,13) (3,7) (11,12)17(14,18) (6,16)9(2,15)8(5,10)
[ RN
-y 1 7108 | | 74 K 11-15 1,340M | | # = 6-7 1,610 | | &4 | 3-11-15 10,090
# B 1 280M 3-11 1,480H B E 11-15 3,750 EE 11-15-3 63,570
15 320M 3-15 1,350H B H 11-15 7,280M
3 280H

ABICOVWTRDTEEERROODE. TR LIV,




